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QUESTION 1

A user wants to specify the WSDL style of a newJAX-WS Web service based on a JavaBean. Using the Web service
generation wizard, which of the following are valid combinations?

A. RPC Encoded

B. RPC Wrapped

C. Document Bare

D. Document Literal

E. Document Wrapped

Correct Answer: CE

QUESTION 2

A developer is building a JAX-WS Web service to be deployed on IBM Web Sphere Application Server V7.0. The
service consumers are financial institutions with client applications using Microsoft .NET V3.5. The service will be used
to retrieve image files and send them to the financial institutions.

What is the recommended approach to send the image files?

A. SOAP with Attachments

B. Direct Internet Message Encapsulation (DIME)

C. Message Transmission Optimization Mechanism (MTOM)

D. Message Handlers and the SOAP with Attachments API for Java (SAAJ)

Correct Answer: C

QUESTION 3

Which of the following is NOT a valid property for configuring the WebSphere internal JMS server?
A. Initial State

B. Queued Port

C. Queue Name

D. Host Name

Correct Answer: D
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QUESTION 4

Which interface in SAAJ generically represents any literal part in a SOAP message?
A. Javax.xml.soap.Text

B. Javax.xml.soap.Node

C. Javax.xml.soap.DetailEntry

D. Javax.xml.soap.SOAPElement

E. Javax.xml.soap.SOAPBodyElement

Correct Answer: D

QUESTION 5

Which one of these steps does NOT apply when a developer is setting a JAX-WS Web service to be SOAP 1.2
compliant?

A. Use a JAX-WS Binding Type annotation

B. Set a property on the SOAP Binding object

C. Specify wsdl:Xsoap1.2 as a flag during wsgen

D. Specify in the WSDL to use a SOAP 1.2 SOAP binding in the WSDL binding

Correct Answer: B
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